Honda Accord,

(rok prod.1990-1992),

Nr kat.AOBS2Z 1

Fi12

Fi10
Fi12

M12
M10

Tulejki:
Fi22X70 4 szt.

Zestaw srubowy:
M12X70 2 szt,
M10X35 2 szt.
M12x100 4 szt.
Podktadki:
Fi10X35 2 szt.
6 szt.
Sprezyndwki:

2 szt.
6 szt.
Nakretki:
6 szt.
2 szt.

M10X35 ,
o
<5
S

M12X70

é«?"&.\.@

N

BAK-POILS
BIZUB

g

[a)
7

S
i\(i% \ni#l

Moment skrecajacy dla srub i nakretek M8 25Nm; M10 55Nm; M12 85Nm; M14 135Nm ;M16 195Nm.




